Parallelogram - A quadrilateral with both pairs of opposite sides congruent and
both pairs of opposite sides parallel.
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Quadrilateral PQRS is a parallelogram. 7x—3

A. What is the value of x?

" 5x — 3
Yy= Sx-5 Tx-3 =axHn, '
~X=- EX-5 =12 P 2+ 12 s
¥= 3 ]
X= 3
B. What is the length of each side of PQRS?
PO = Y%= 4(3)=1 PS= 2x+ia = AT
= HA=IT

RS =12
ez |%



2. The 600-meter fence around City Park forms a
parallelogram. The fence along Chaco Road is
twice as long as the fence along Grover Lane.
What is the length of the fence along Jones
Road?

AXYXIXEX = LOD
eX= Goo

X= {00 m

AX
Chaco Rd.

Village Dr.
X




Parallelogram - A quadrilateral with consecutive piars of angles supplementary.

If a quadrilateral is a parallelogram, then its
consecutive angles are supplementary.

AB || DC B > C

AD |l BC X{ /
A& - D

mZA+ mzB = 180

msZB + mzZC = 180

mZC + m£ZD = 180
msZD + mZA = 180




Parallelogram - A quadrilateral with both pairs of opposite angles congruent.
AB || DC B C
AD || BC f /”/

A D

LA~ /ZC
LB =~ £ZD




4. Use the parallelogram shown. H

(@ +5)°
a. Given parallelogram GHJK, what is the value — J
d
of a? mLH tmlé =1%o 5
Ot+'S + =S = /%0 K
A = 180
O= RO

b. What are m£G, m£ZH, m4£J, and m£ZK?

MGz Yu-S = ¥Qo)-5 h,,z_H; LS
; 2 =as”
= f<

WC‘J‘:/:TS"



Parallelogram - A quadrilateral with both diagonals bisecting eachother.

WX Il Zzy Cu A e
WZ ” XY ’\x" \‘\t\

AW =~ AY
AX ~ AZ



5. Use parallelogram RSTU with SU = 35 and
KT =19.

a.Whatis SK? = l1.5

b. What is RT? = >3



6. Given parallelogram GHJK, if PK = 4 and HK = %(GJ) Y

what is GP?

GP=53

Hie= E(63)
Hics 5 (x)
(8)-(5 %)>
2 =2x
Y=

GI=12
-P=0



Use parallelogram ABCD to find BC.

SR-= XY
AX =L
X=3

(= D)2
|

Use parallelogram ABCD to find BD.

(5D =5




Use parallelogram WXYZ to find m£W XY.

Use parallelogram WXYZ to find m£XYZ.

99°

o1°

929




Use parallelogram EFGH to find EJ.

Use parallelogram EFGH to find FH.



P

Use parallelogram MNPQ to find m£NPQ. N (9t - 2)° <%
G6-24 dt+14=1%0 /'L qﬁt‘
12t +la= (30 L BEE TR = Q

124 =163 Ity
&= 1Y 304N Y
Use parallelogram MNPQ to find m£ZPQM. o

S






